Mixed Addition and Subtraction Word Problems 2

Doris weighs 38 pounds. Janet weighs 7
pounds. How much heavier is Doris than
Janet?

Answer:

If there are 7 marbles in a box and
Gregory puts 73 more marbles inside, how
many marbles are in the box?

Answer

If there are 43 cards in a box and Carol
puts 9 more cards inside, how many cards
are in the box?
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Ralph starts with 99 Skittles. He finds
another 8. How many Skittles does Ralph
end with?

Answer:

Katherine starts with 65 stickers. 31 are
eaten by a hippopotamus. How many stickers
does Katherine end with?




